(2) oH Bigy
& 5| Wit AR j ’ i " sk
e It 1 897.09 0 0 897.09

(3) M EENE WA
& 5y | iR A E S ; ’ i " sk
% fr 1 10 0 0 10
i e fe I 0 0 1
a G 11 0 0 11

(4) 47 i 5 WA : 1]
& by | RS ﬁ: ’ i " s
(#) 2= A= 5 K 10,000,000 0 0 10,000,000
WA T Y MR =TT () 1,000,000 0 0 1,000,000
& it 11,000,000 0 0 11,000,000

(5) HIZ I LB HERI H4fi:
& by | ARk PR T et

# W

(AR R RIE AL ERMES] 5,000,000 0 0 5,000,000

tom PR % 4 # HOE 4 5,000,000 0 0 5,000,000

(4 M) HRUZ LM R4 4,000,000 0 0 4,000,000

(23 ) SORCHT 2 AR K E #i B S0 [ H 1A 4 1,370,000 0 0 1,370,000

(5) BB ROEHEER R 2 — Hifi & 4,683,000 0 0 4,683,000

W s ST O G OB HE B 4] 3,800,000 0 0 3,800,000
& it | 23,853,000 0 0 23,853,000
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i 5 11 13 24
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7 1 8
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3. 18 BN
i s | sk RN N er——
MRS R AR S S (R S 4 2,753,000 496,000 1,115,000 2,134,000
4. J& B4R
(1) MBEREEIELS BAf7: [
5Ky AR EER RGO REAFER
BLE e Jik B
B4 1,223,205,677 3,020,307,374] 3,006,000,000] 1,237,513,051
Bt 930,000,000 1,150,000,000 930,000,000{ 1,150,000,000
&t 2,153,205,677 4,170,307,374| 3,936,000,000] 2,387,513,051
PRAR B R B R 1,237,513,05 1 FIIZIE, — MR FH~D1EH (£444)500,000,000 1 23& i b,
(2) BRELREET UL B [
Ky R EER R FE AR
BE S ] Jik BE
B4 9,409,873 2,346 0 9,412,219
(3) JreEskiss B [
K4y HIFAFEEER B E T REAFER
BE S ] Jik B
T 499,860,005 980,138,595 880,000,000 599,998,600
B 100,000,000 320,000,000 100,000,000 320,000,000
&t 599,860,005 1,300,138,595 980,000,000 919,998,600
(4) HstENEEL 4 B [
K45 R EER R FE REAFER
BE S ] Jik BE
4 339,383,111 304,560,913 251,373,000 392,571,024
B 54,462,102 101,700,271 54,462,102 101,700,271
a3 393,845,213 406,261,184 305,835,102 494,271,295
SR RAR R BIE 392,571,024 1L, — R FH~DEE (£442) 2,500,000 I 03 E Fivd,
(5) b FrBASS B i 24 Bz [
K% AR N N L RHEAEPER
BER pa] Tk BES
B4 3,026,544 754 0 3,027,298
(6) HEVENFEEES Bz [
X4y HIFAFEEER B EE T RFAFEER
BE S ] Pk B
B4 80,259,507 6,625,326 30,950,000 55,934,833
B 13,689 39,973 13,689 39,973
& 80,273,196 6,665,299 30,963,689 55,974,806
SR AR FE R BAE 155,934,833 MI1E, — R FF~DEH (R#442) 22,100,000 I 03 E Fvd,
(7) HEEEEmEES B [
5Ky ﬁ;ﬁﬁffﬁje iﬁ% HOE qu;jz ﬂ%iifgﬂi
115y = VB + /5]
B4 52,176,430 3,151,827 1,800,000 53,528,257
B 3,142,800 2,998,000 3,142,800 2,998,000
&t 55,319,230 6,149,827 4,942,800 56,526,257
x&%@ﬁﬂefﬁﬁm% 528,257 FIZIL, —HR & FH~DEE (K£44) 2,900,000 I 03 E Fivd,
(8) #HEMigkFelmise: B [
5Ky ﬁ;ﬁﬁffﬁje iﬁ% HOE qu;jz ﬂ%iifgﬂi
115y = VB + /5]
B4 4,643,541 44,659,554 1,829,000 47,474,095
B 44,653,000 64,250,000 44,653,000 64,250,000
&t 49,296,541 108,909,554 46,482,000 111,724,095

SRR i EEfEEmM 474,095M121F, — RS FF~OEH (FH04) 3,322,000 238 Fid,
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(9) B ES HAL:H
Ky HIAFEBER N REAFEEER
BE S e Tk BIE S
TN 65,388 16 0 65,404
(10) RS BALT Y
K RITAEER B AE RFAEFER
BES ] Pk BES
TN 1,659,523,521 2,780,496,644]  2,389,900,000] 2,050,120,165
R 500,000,000 400,000,000 500,000,000 400,000,000
&5t 2,159,523,521 3,180,496,644] 2,889,900,000] 2,450,120,165

SRR T R HITE 2,050,120, 165 2L, — S aF~DEH (R$A4) 392,984,000 285 £D,

(11) EREEFEAREEEE LS ‘ ‘ BALT Y
K4y AR EER e H O REAFER
BUAE e U8 LA
4 207,861 16,453,641 0 16,661,502
1EHE 0 70,000,000 0 70,000,000
&5t 207,861 86,453,641 0 86,661,502
(12) E@%Jﬁ%ﬁﬁ%%ﬁféﬁ%@%ﬁ%@ ‘ \ A7
K43 R LR O JE Gl &%E%Eﬁ
BES ] Tk BLE
B4 6,000,000 0 0 6,000,000
(13) AEEFKEFELS ‘ ‘ BAST:
K4y AR R A E REAFEER
BES ] EA HAES
1Bt 0 56,331,572 0 56,331,572
(14) ﬁé%ﬁ%ﬁ%@%%@ \ \ A7
K43 FIENEES E A E PEEREER
BES ] Tk BER
4 379,063,125 305,043 2,864,579 376,503,589
1Bt 0 10,435,000 0 10,435,000
55 379,063,125 10,740,043 2,864,579 386,938,589
(15) EEEN#EYr— ARG S BALT:
Ky ﬁﬁ@fﬁji . EP\ &%E%ﬁk
BES 1 5 HES
B4 5,000,000 0 0 5,000,000
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